Efficiency vs dr

0.8

0.7

0.6

efficiency vs AR

0.5

0.4

0.3

0.2

0.1

IT 1T
—=— DQMstep3 ZToEE_CKF
—e— DQMstep3_ZToEE_default

Ratio

.| —— DQMstep3_ZToEE_defaultNEWT

[y
TTTT] T T

107° 1072 107 1
TP min AR

[ Efficiency vs dr (track,jet) |

§ 0.1

0 0.09

=

o

z 0.08

£20.07

>

20.06

@

o

£ 0.05]

3]
0.04
0.03
0.02

0.0

[y

-1

107 1072

Efficiency vs pu

0.5
0.45

0.35

efficiency vs PU
o
D

o
w

0.28F -+ pieefeebereeeede oo e

..........

60 70 80
Pileup

(@]
N
(@]
o \ N
N
(@]
3]
(@]



	Contents
	Page 1


